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- p s=mdVs=2.68
(g/cm3) P w=my/V, =100 (g/cm3) e=V.JVs Sr=(Vw/Vy)x 100(%) (ms Vs
My Vy )
1 ( + ) m, = 6000(g) w=12.0(%)
pi= 220 (g/em?) pa=_196 (g/cm?) e= 0.367
S= 876 (%) m, = 3800(g) 1000(cm®) x4 20
3 Wos P dzs 50
Wiso P dso
2x2+1 5
Wos Wig P dxs P as0
250(g) 2mm ( 0%) 80(g)
2mm ( 8%) 100(g) 75(u m) 40(%)
5(u m) 15(%) 33.7_ (%) 39.8 (%)
16.6 (%) 99 (%) 6x4+1 25
2.
q,=100(kN/m?) Cu=10(kN/m?)
S=__ 5 5x1 5
Wp
3 (mm)
5x1 5
3. Fig.1 (CD) Fig.1a)
140.0(cm®) 10.0(cm®) 7.5(cm®)
137.5 (cm?) Fig.1b)
15.0(cm’) 145.0 (cm?) 5x2 10
4. p= 100 (kN/m? H = 1.90(cm) p = 200 (kN/m?)
H =1.75(cm) p= 100(kN/m? 1.40
p= 200(kN/m?) 1.21 C.= _0.63
Ho =2.00(cm) D = 6(cm) ms=60.0(g) 109102
=0.301 6x3+2 20
5. Po Pa Pe
P, Py P, 3x3+1 10
0 1=Po
0 =Py
N //
O3l w0 3
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